

Certain Results for Laguerre Polynomials of Several Variables

Ahmed Ali Atash¹ and Salem Saleh Barahmah²

¹Department of Mathematics Faculty of Education-Shabwah, Aden University, Yemen

²Department of Mathematics Faculty of Education-Aden, Aden University, Yemen

Abstract: The aim of this research paper is to derive some hypergeometric formulas of Laguerre polynomials of two, three and several variables. Also we apply this formulas to derive some integral formulas involving Laguerre polynomials of several variables.

Keywords: Generalized Lauricella function, Hypergeometric formulas, Integral formulas, Laguerre polynomials.

I. Introduction

In 1991, Ragab [7] defined Laguerre polynomials of two variables $L_n^{(\alpha, \beta)}(x, y)$ as follows :

$$L_n^{(\alpha, \beta)}(x, y) = \frac{\Gamma(n+\alpha+1)\Gamma(n+\beta+1)}{n!} \sum_{r=0}^n \frac{(-y)^r L_{n-r}^{(\alpha)}(x)}{r! \Gamma(\alpha+n-r+1) \Gamma(\beta+r+1)} \quad (1.1)$$

where $L_n^{(\alpha)}(x)$ is the Laguerre polynomials of one variable [8]

$$L_n^{(\alpha)}(x) = \frac{(1+\alpha)_n}{n!} {}_1F_1 \left[\begin{matrix} -n & ; & x \\ 1+\alpha & ; & \end{matrix} \right]. \quad (1.2)$$

In 1996, Khan and Shukla [5] defined the Laguerre polynomials of r -variables $L_n^{(\alpha_1, \dots, \alpha_r)}(x_1, \dots, x_r)$ as follows :

$$L_n^{(\alpha_1, \dots, \alpha_r)}(x_1, \dots, x_r) = \frac{\prod_{j=1}^r (1+\alpha_j)_n}{(n!)^r} \Psi_2^{(r)} \left[-n; 1+\alpha_1, \dots, 1+\alpha_r; x_1, \dots, x_r \right] \quad (1.3)$$

where $\Psi_2^{(r)}$ is a confluent hypergeometric function of r -variables [10]

$$\Psi_2^{(r)} \left[a; c_1, \dots, c_r; x_1, \dots, x_r \right] = \sum_{m_1, \dots, m_r=0}^{\infty} \frac{(a)_{m_1+\dots+m_r}}{(c_1)_{m_1} \dots (c_r)_{m_r}} \frac{x_1^{m_1}}{m_1!} \dots \frac{x_r^{m_r}}{m_r!} \quad (1.4)$$

Srivastava and Daoust [9] defined extremely generalized hypergeometric function of n -variables (which is referred to in the literature as the generalized Lauricella's function of several variables) defined by [10]

$$\begin{aligned} & F \begin{matrix} A: B'; \dots; B^{(n)} \\ C: D'; \dots; D^{(n)} \end{matrix} [z_1, \dots, z_n] \\ & \equiv F \begin{matrix} A: B'; \dots; B^{(n)} \\ C: D'; \dots; D^{(n)} \end{matrix} \left(\begin{matrix} [(a): \theta', \dots, \theta^{(n)}]: [(b'): \phi']; \dots; [(b^{(n)}): \phi^{(n)}]; \\ [(c): \psi', \dots, \psi^{(n)}]: [(d'): \delta']; \dots; [(d^{(n)}): \delta^{(n)}]; \end{matrix}; z_1, \dots, z_n \right) \\ & = \sum_{m_1, \dots, m_n=0}^{\infty} \Omega(m_1, \dots, m_n) \frac{z_1^{m_1}}{m_1!} \dots \frac{z_n^{m_n}}{m_n!}, \end{aligned} \quad (1.5)$$

where

$$\Omega(m_1, \dots, m_n) = \frac{\prod_{j=1}^A (a_j)_{m_1 \theta'_j + \dots + m_n \theta_j^{(n)}} \prod_{j=1}^{B'} (b'_j)_{m_1 \phi'_j} \dots \prod_{j=1}^{B^{(n)}} (b_j^{(n)})_{m_n \phi_j^{(n)}}}{\prod_{j=1}^C (c_j)_{m_1 \psi'_j + \dots + m_n \psi_j^{(n)}} \prod_{j=1}^{D'} (d'_j)_{m_1 \delta'_j} \dots \prod_{j=1}^{D^{(n)}} (d_j^{(n)})_{m_n \delta_j^{(n)}}} \quad (1.6)$$

and the coefficients $\theta_j^{(k)}$, $j=1,2,\dots,A$; $\phi_j^{(k)}$, $j=1,2,\dots,B^{(k)}$; $\psi_j^{(k)}$, $j=1,2,\dots,C$; $\delta_j^{(k)}$, $j=1,2,\dots,D^{(k)}$; for all $k \in \{1,2,\dots,n\}$ are real and positive, (a) abbreviates the array of A parameters a_1, \dots, a_A , $(b^{(k)})$ abbreviates the array of $B^{(k)}$ parameters $b_j^{(k)}$, $j=1,2,\dots,B^{(k)}$ for all $k \in \{1,2,\dots,n\}$ with similar interpretations for (c) and $(d^{(k)})$ $k \in 1,2,\dots,n$; *et cetera*. Note that, when the coefficients in equation (1.5) equal to 1, the generalized Lauricella function (1.5) reduces to the following multivariable extension of the Kampé de Fériet function [10]:

$$\begin{aligned}
 F \begin{matrix} p:q_1;\dots;q_n \\ l:m_1;\dots;m_n \end{matrix} [z_1,\dots,z_n] &\equiv F \begin{matrix} p:q_1;\dots;q_n \\ l:m_1;\dots;m_n \end{matrix} \left((a_p) : (b'_{q_1}) ; \dots ; (b'_{q_n}) ; \right. \\
 &\quad \left. (c_l) : (d'_{m_1}) ; \dots ; (d'_{m_n}) ; z_1, \dots, z_n \right) \\
 &= \sum_{s_1, \dots, s_n=0}^{\infty} \Omega(s_1, \dots, s_n) \frac{z_1^{s_1}}{s_1!} \dots \frac{z_n^{s_n}}{s_n!}, \tag{1.7}
 \end{aligned}$$

where

$$\Omega(s_1, \dots, s_n) = \frac{\prod_{j=1}^p (a_j)_{s_1+\dots+s_n} \prod_{j=1}^{q_1} (b'_j)_{s_1} \dots \prod_{j=1}^{q_n} (b'_j)_{s_n}}{\prod_{j=1}^l (c_j)_{s_1+\dots+s_n} \prod_{j=1}^{m_1} (d'_j)_{s_1} \dots \prod_{j=1}^{m_n} (d'_j)_{s_n}}. \tag{1.8}$$

II. Hypergeometric Formulas of $L_n^{(\alpha_1, \dots, \alpha_r)} [x_1, \dots, x_r]$

Two interesting generating functions of Laguerre polynomials of two and several variables are given by Chatterje [2] and Khan and Shukla [5]

$$\sum_{n=0}^{\infty} \frac{n! L_n^{(\alpha, \beta)}(x, y) t^n}{(\alpha+1)_n (\beta+1)_n} = e^t {}_0F_1(-; 1+\alpha; -xt) {}_0F_1(-; 1+\beta; -yt) \tag{2.1}$$

$$\sum_{n=0}^{\infty} \frac{(n!)^{s-1} t^n}{\prod_{j=1}^s (\alpha_j+1)_n} L_n^{(\alpha_1, \dots, \alpha_s)}(x_1, \dots, x_s) = e^t \prod_{j=1}^s {}_0F_1(-; 1+\alpha_j; -x_j t) \tag{2.2}$$

In (2.1) if we replace y and β by $-x$ and α and use the result [3]

$${}_0F_1(-; a; x) {}_0F_1(-; a; -x) = {}_0F_3\left(-; a, \frac{a}{2}, \frac{a}{2} + \frac{1}{2}; \frac{-x^2}{4}\right), \tag{2.3}$$

we get

$$\sum_{n=0}^{\infty} \frac{n! L_n^{(\alpha, \alpha)}(x, -x) t^n}{(\alpha+1)_n (\alpha+1)_n} = e^t {}_0F_3\left[\begin{matrix} \text{-----} \\ \alpha+1, \frac{1}{2}(\alpha+1), \frac{1}{2}(\alpha+2) \end{matrix}; \frac{-(xt)^2}{4}\right] \tag{2.4}$$

On expressing e^t and ${}_0F_3$ in series forms, we get

$$\sum_{n=0}^{\infty} \frac{(n!)^2 L_n^{(\alpha, \alpha)}(x, -x) t^n}{(\alpha+1)_n (\alpha+1)_n} = \sum_{n=0}^{\infty} \sum_{k=0}^{[n/2]} \frac{(-x^2/4)^k t^n}{(\alpha+1)_k ((\alpha+1)/2)_k ((\alpha+2)/2)_k (n-2k)! k!} \tag{2.5}$$

Comparing the coefficient of t^n on both sides of (2.5) and using the following identities [10]:

$$(n-k)! = \frac{(-1)^k n!}{(-n)_k}, \quad 0 \leq k \leq n \tag{2.6}$$

and

$$(\lambda)_{2n} = 2^{2n} \left(\frac{1}{2}\lambda\right)_n \left(\frac{1}{2}\lambda + \frac{1}{2}\right)_n, \quad n=0,1,2,\dots, \tag{2.7}$$

we get

$$L_n^{(\alpha,\alpha)}(x, -x) = \frac{(\alpha+1)_n (\alpha+1)_n}{(n!)^2} {}_2F_3 \left[\begin{matrix} -\frac{1}{2}n, -\frac{1}{2}n + \frac{1}{2} \\ 1+\alpha, \frac{1}{2}(1+\alpha), \frac{1}{2}(2+\alpha) \end{matrix}; -x^2 \right], \tag{2.8}$$

where ${}_pF_q$ is the generalized hypergeometric function of one variable [10]

$${}_pF_q \left[\begin{matrix} a_1, a_2, \dots, a_p \\ b_1, b_2, \dots, b_q \end{matrix}; x \right] = \sum_{n=0}^{\infty} \frac{(a_1)_n (a_2)_n \dots (a_p)_n x^n}{(b_1)_n (b_2)_n \dots (b_q)_n n!}. \tag{2.9}$$

Now, we consider (2.2) with $n=3, x_1=x, x_2=-x, x_3=y, \alpha_1=\alpha_2=\alpha, \alpha_3=\beta$, using (2.1) and comparing the coefficient of t^n , we get

$$\frac{(n!)^2 L_n^{(\alpha,\alpha,\beta)}(x, -x, y)}{(\alpha+1)_n (\alpha+1)_n (\beta+1)_n} = \sum_{k=0}^n \frac{(n-k)! (-y)^k}{(\alpha+1)_{n-k} (\alpha+1)_{n-k} (\beta+1)_k k!} L_{n-k}^{(\alpha,\alpha)}(x, -x) \tag{2.10}$$

In (2.10) if we apply (2.6) and (2.8), we arrive to the following result :

$$L_n^{(\alpha,\alpha,\beta)}(x, -x, y) = \frac{(\alpha+1)_n (\alpha+1)_n (\beta+1)_n}{(n!)^3} \times X_{\begin{matrix} 1:0;0 \\ 0:3;1 \end{matrix}} \left[\begin{matrix} -n \\ - \\ \alpha+1, \frac{1}{2}(\alpha+1), \frac{1}{2}(\alpha+2); \beta+1 \end{matrix}; \frac{-x^2}{4}, y \right] \tag{2.11}$$

where $X_{\begin{matrix} A:B;B' \\ C:D;D' \end{matrix}}$ is Exton double hypergeometric series [4]

$$X_{\begin{matrix} A:B;B' \\ C:D;D' \end{matrix}} \left[\begin{matrix} (a): (b); (b') \\ (c): (d); (d') \end{matrix}; x, y \right] = \sum_{m,n=0}^{\infty} \frac{((a))_{2m+n} ((b))_m ((b'))_n x^m y^n}{((c))_{2m+n} ((d))_m ((d'))_n m! n!}. \tag{2.12}$$

Similarly, in (2.2) if we put $n=4, x_1=x, x_2=-x, x_3=y, x_4=-y, \alpha_1=\alpha_2=\alpha, \alpha_3=\alpha_4=\gamma$ and use (2.1), (2.3) and (2.6), we get

$$L_n^{(\alpha,\alpha,\gamma,\gamma)}(x, -x, y, -y) = \frac{(\alpha+1)_n (\alpha+1)_n (\gamma+1)_n (\gamma+1)_n}{(n!)^4} F_{\begin{matrix} 2:0;0 \\ 0:3;3 \end{matrix}} \left[\begin{matrix} -\frac{1}{2}n, -\frac{1}{2}n + \frac{1}{2} \\ \alpha+1, \frac{1}{2}(\alpha+1), \frac{1}{2}(\alpha+2); \gamma+1, \frac{1}{2}(\gamma+1), \frac{1}{2}(\gamma+2) \end{matrix}; -x^2, -y^2 \right], \tag{2.13}$$

where $F_{\begin{matrix} p;q;k \\ l;m;n \end{matrix}}[x, y]$ denotes the Kampé de Fériet function of two variables [10]

$$F_{\begin{matrix} p;q;k \\ l;m;n \end{matrix}} \left[\begin{matrix} (a_p); (b_q); (c_k) \\ (\alpha_l); (\beta_m); (\gamma_n) \end{matrix}; x, y \right] = \sum_{r,s=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{r+s} \prod_{j=1}^q (b_j)_r \prod_{j=1}^k (c_j)_s}{\prod_{j=1}^l (\alpha_j)_{r+s} \prod_{j=1}^m (\beta_j)_r \prod_{j=1}^n (\gamma_j)_s} \frac{x^r}{r!} \frac{y^s}{s!}. \tag{2.14}$$

Further, in (2.2), if we put $n=4, x_1=x_2=x, x_3=y, x_4=-y, \alpha_1=\alpha, \alpha_2=\beta, \alpha_3=\alpha_4=\gamma$ and use (2.1) and (2.3), we get

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{(n!)^3 L_n^{(\alpha, \beta, \gamma, \gamma)}(x, x, y, -y) t^n}{(\alpha+1)_n (\beta+1)_n (\gamma+1)_n (\gamma+1)_n} \\ &= \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{n! L_n^{(\alpha, \beta)}(x, x) t^n}{(\alpha+1)_n (\beta+1)_n (\gamma+1)_k ((\gamma+1)/2)_k ((\gamma+2)/2)_k k!} \frac{((-y^2 t^2)/4)^k}{k!} \end{aligned} \quad (2.15)$$

Now, using the identity (2.6) and comparing the coefficient of t^n , we get

$$\begin{aligned} & \frac{(n!)^3 L_n^{(\alpha, \beta, \gamma, \gamma)}(x, x, y, -y)}{(\alpha+1)_n (\beta+1)_n (\gamma+1)_n (\gamma+1)_n} \\ &= \sum_{k=0}^{\lfloor n/2 \rfloor} \frac{(n-2k)! ((-y^2)/4)^k}{(\alpha+1)_{n-2k} (\beta+1)_{n-2k} (\gamma+1)_k ((\gamma+1)/2)_k ((\gamma+2)/2)_k k!} L_{n-2k}^{(\alpha, \beta)}(x, x) \end{aligned} \quad (2.16)$$

In (2.16), if we use the result [7]

$$L_n^{(\alpha, \beta)}(x, x) = \frac{(1+\alpha)_n (1+\beta)_n}{(n!)^2} {}_3F_3 \left[\begin{matrix} -n, \frac{1}{2}(\alpha+\beta+1), \frac{1}{2}(\alpha+\beta+2) \\ \alpha+1, \beta+1, \alpha+\beta+1 \end{matrix}; 4x \right], \quad (2.17)$$

we arrive after some simplification to the following result :

$$\begin{aligned} L_n^{(\alpha, \beta, \gamma, \gamma)}(x, x, y, -y) &= \frac{(\alpha+1)_n (\beta+1)_n (\gamma+1)_n (\gamma+1)_n}{(n!)^4} \\ &\times X_{0:3;3}^{1:0;2} \left[\begin{matrix} -n: & \text{-----} & ; \frac{1}{2}(\alpha+\beta+2), \frac{1}{2}(\alpha+\beta+1); & -y^2 \\ -: & \gamma+1, \frac{1}{2}(\gamma+1), \frac{1}{2}(\gamma+2); & \alpha+1, \beta+1, \alpha+\beta+1 & ; 4 \end{matrix}, 4x \right]. \end{aligned} \quad (2.18)$$

On the same lines of derivation of the results (2.11), (2.13) and (2.18), we have the following formulas for $L_n^{(\alpha_1, \dots, \alpha_r)}(x_1, \dots, x_r)$:

$$\begin{aligned} & L_n^{(\alpha_1, \alpha_1, \dots, \alpha_r, \alpha_r, \alpha_{r+1})} [x_1, -x_1, \dots, x_r, -x_r, x_{r+1}] \\ &= \frac{\prod_{j=1}^r ((1+\alpha_j)_n (1+\alpha_j)_n) (1+\alpha_{r+1})_n}{(n!)^{2r+1}} \\ & F_{0:3; \dots; 3; 1}^{1:0; \dots; 0; 0} \left[\begin{matrix} (-n: 2, \dots, 2, 1) : & \text{-----} & ; \dots \\ & - & : (1+\alpha_1 : 1), (\frac{1}{2}(1+\alpha_1) : 1), (\frac{1}{2}(2+\alpha_1) : 1); \dots \\ \dots; & \text{-----} & ; & \text{-----} & ; -x_1^2, \dots, -x_r^2 \\ \dots; (1+\alpha_r : 1), (\frac{1}{2}(1+\alpha_r) : 1), (\frac{1}{2}(2+\alpha_r) : 1); (1+\alpha_{r+1} : 1); & 4 & , \dots, & 4 & , x_{r+1} \end{matrix} \right], \end{aligned} \quad (2.19)$$

$$\begin{aligned} & L_n^{(\alpha_1, \alpha_1, \dots, \alpha_r, \alpha_r)} [x_1, -x_1, \dots, x_r, -x_r] = \frac{\prod_{j=1}^r [(1+\alpha_j)_n (1+\alpha_j)_n]}{(n!)^{2r}} \\ & F_{0:3; \dots; 3}^{2:0; \dots; 0} \left[\begin{matrix} -\frac{1}{2}n, -\frac{1}{2}n + \frac{1}{2} : & \text{-----} & ; \dots \\ & \text{-----} & : 1+\alpha_1, \frac{1}{2}(1+\alpha_1), \frac{1}{2}(2+\alpha_1); \dots \\ \dots; & \text{-----} & ; & \text{-----} & ; -x_1^2, -x_2^2, \dots, -x_r^2 \\ \dots; 1+\alpha_r, \frac{1}{2}(1+\alpha_r), \frac{1}{2}(2+\alpha_r); & & & & \end{matrix} \right] \end{aligned} \quad (2.20)$$

and

$$\begin{aligned}
 & L_n^{(\alpha_1, \beta_1, \dots, \alpha_r, \beta_r, \gamma_1, \gamma_1, \dots, \gamma_s, \gamma_s)} [x_1, x_1, \dots, x_r, x_r, y_1, -y_1, \dots, y_s, -y_s] \\
 &= \frac{\prod_{j=1}^r [(1+\alpha_j)_n (1+\beta_j)_n] \prod_{j=1}^s [(1+\gamma_j)_n (1+\gamma_j)_n]}{(n!)^{2(r+s)}} \\
 & F \left[\begin{matrix} 1:0; \dots; 0; 2; \dots; 2 & (-n: 2, \dots, 2, 1, \dots, 1) & : & \text{-----} & ; \dots \\ 0:3; \dots; 3; 3; \dots; 3 & \text{-----} & : & (1+\gamma_1:1), (\frac{1}{2}(1+\gamma_1):1), (\frac{1}{2}(2+\gamma_1):1); \dots \\ \dots; & \text{-----} & ; & (\frac{1}{2}(2+\alpha_1+\beta_1):1), (\frac{1}{2}(1+\alpha_1+\beta_1):1); \dots \\ \dots; & (1+\gamma_s:1), (\frac{1}{2}(1+\gamma_s):1), (\frac{1}{2}(2+\gamma_s):1); & (1+\alpha_1:1), (1+\beta_1:1), (1+\alpha_1+\beta_1:1); \dots \\ \dots; & (\frac{1}{2}(2+\alpha_r+\beta_r):1), (\frac{1}{2}(1+\alpha_r+\beta_r):1); & -\frac{y_1^2}{4}, \dots, -\frac{y_s^2}{4}, 4x_1, \dots, 4x_r \end{matrix} \right] \quad (2.21)
 \end{aligned}$$

respectively .

III. Integral Formulas Involving $L_n^{(\alpha_1, \dots, \alpha_r)} [x_1, \dots, x_r]$

In this section, we use the results obtained in the section II to obtain the following integral formulas involving Laguerre polynomials of several variables :

$$\begin{aligned}
 & \int_0^\infty e^{-\sigma x} x^{\lambda-1} L_{m_1}^{(\alpha_1, \alpha_1)} (\gamma_1 x, -\gamma_1 x) \dots L_{m_r}^{(\alpha_r, \alpha_r)} (\gamma_r x, -\gamma_r x) dx \\
 &= \frac{\Gamma(\lambda) \prod_{j=1}^r [(1+\alpha_j)_{m_j} (1+\alpha_j)_{m_j}]}{\sigma^\lambda \prod_{j=1}^r (m_j!)^2} F \left[\begin{matrix} 2:2; \dots; 2 & \left[\frac{1}{2}\lambda, \frac{1}{2}\lambda + \frac{1}{2} : -\frac{1}{2}m_1, -\frac{1}{2}m_1 + \frac{1}{2} \quad ; \dots \right. \\ 0:3; \dots; 3 & \left. - \quad : 1+\alpha_1, \frac{1}{2}(1+\alpha_1), \frac{1}{2}(2+\alpha_1) ; \dots \right. \\ \dots; & \left. -\frac{1}{2}m_r, -\frac{1}{2}m_r + \frac{1}{2} \quad ; -4\gamma_1^2, \dots, -4\gamma_r^2 \right] \\ \dots; & 1+\alpha_r, \frac{1}{2}(1+\alpha_r), \frac{1}{2}(2+\alpha_r) ; \sigma^2, \dots, \sigma^2 \end{matrix} \right], \quad (3.1)
 \end{aligned}$$

$$\begin{aligned}
 & \int_0^\infty e^{-\sigma x} x^{\lambda-1} L_{m_1}^{(\alpha_1, \beta_1)} (\gamma_1 x, \gamma_1 x) \dots L_{m_r}^{(\alpha_r, \beta_r)} (\gamma_r x, \gamma_r x) dx \\
 &= \frac{\Gamma(\lambda) \prod_{j=1}^r [(1+\alpha_j)_{m_j} (1+\beta_j)_{m_j}]}{\sigma^\lambda \prod_{j=1}^r (m_j!)^2} F \left[\begin{matrix} 1:3; \dots; 3 & \left[\lambda: -m_1, \frac{1}{2}(1+\alpha_1+\beta_1), \frac{1}{2}(2+\alpha_1+\beta_1); \dots \right. \\ 0:3; \dots; 3 & \left. -: \quad 1+\alpha_1, 1+\beta_1, 1+\alpha_1+\beta_1 \quad ; \dots \right. \\ \dots; & \left. -m_r, \frac{1}{2}(1+\alpha_r+\beta_r), \frac{1}{2}(2+\alpha_r+\beta_r) ; 4\gamma_1, \dots, 4\gamma_r \right] \\ \dots; & \quad 1+\alpha_r, 1+\beta_r, 1+\alpha_r+\beta_r \quad ; \sigma, \dots, \sigma \end{matrix} \right], \quad (3.2)
 \end{aligned}$$

$$\begin{aligned}
 & \int_0^\infty e^{-\sigma x} x^{\lambda-1} L_n^{(\alpha_1, \beta_1, \dots, \alpha_r, \beta_r, \rho_1, \rho_1, \dots, \rho_s, \rho_s)} [\gamma_1 x, \gamma_1 x, \dots, \gamma_r x, \gamma_r x, \delta_1 x, -\delta_1 x, \dots, \delta_s x, -\delta_s x] dx \\
 &= \frac{\Gamma(\lambda) \prod_{j=1}^r [(1+\alpha_j)_n (1+\beta_j)_n] \prod_{j=1}^s [(1+\rho_j)_n (1+\rho_j)_n]}{\sigma^\lambda (n!)^{2(r+s)}}
 \end{aligned}$$

$$\begin{aligned}
 & {}_2F_3 \left[\begin{matrix} 2:0; \dots; 0; 2; \dots; 2 \\ 0:3; \dots; 3; 3; \dots; 3 \end{matrix} \left[\begin{matrix} (\lambda: 2, \dots, 2, 1, \dots, 1), (-n: 2, \dots, 2, 1, \dots, 1) \\ \dots \\ \dots \end{matrix} \right. \right. \\
 & \left. \left. \begin{matrix} (1+\rho_1:1), (\frac{1}{2}(1+\rho_1):1), (\frac{1}{2}(2+\rho_1):1); \dots; (1+\rho_s:1), (\frac{1}{2}(1+\rho_s):1), (\frac{1}{2}(2+\rho_s):1); \\ (\frac{1}{2}(2+\alpha_1+\beta_1):1), (\frac{1}{2}(1+\alpha_1+\beta_1):1); \dots; (\frac{1}{2}(2+\alpha_r+\beta_r):1), (\frac{1}{2}(1+\alpha_r+\beta_r):1); \\ (1+\alpha_1:1), (1+\beta_1:1), (1+\alpha_1+\beta_1:1); \dots; (1+\alpha_r:1), (1+\beta_r:1), (1+\alpha_r+\beta_r:1); \\ \left. \frac{-\delta_1^2}{4\sigma^2}, \dots, \frac{-\delta_s^2}{4\sigma^2}, \frac{4\gamma_1}{\sigma}, \dots, \frac{4\gamma_r}{\sigma} \right] \right. \end{matrix} \right. \quad (3.3)
 \end{aligned}$$

where $\text{Re}(\lambda) > 0; \text{Re}(\sigma) > 0$ and Γ is the well known Gamma function defined by [10]

$$\Gamma(z) = \int_0^\infty t^{z-1} e^{-t} dt, \quad \text{Re}(z) > 0. \quad (3.4)$$

Proof of (3.1):

To obtain the main integral formula (3.1), we consider the left-hand side of (3.1), using (2.8), expressing ${}_2F_3$ in series forms and changing the order of integration and summation we get

$$\begin{aligned}
 L.H.S &= \frac{\prod_{j=1}^r [(1+\alpha_j)_{m_j} (1+\alpha_j)_{m_j}]}{\prod_{j=1}^r (m_j!)^2} \\
 & \sum_{p_1, \dots, p_r=0}^\infty \frac{(-\frac{1}{2}m_1)_{p_1} (-\frac{1}{2}m_1 + \frac{1}{2})_{p_1} (\gamma_1^2)^{p_1}}{(\alpha_1+1)_{p_1} \frac{1}{2}(\alpha_1+1)_{p_1} \frac{1}{2}(\alpha_1+2)_{p_1} p_1!} \times \dots \times \frac{(-\frac{1}{2}m_r)_{p_r} (-\frac{1}{2}m_r + \frac{1}{2})_{p_r} (\gamma_r^2)^{p_r}}{(\alpha_r+1)_{p_r} \frac{1}{2}(\alpha_r+1)_{p_r} \frac{1}{2}(\alpha_r+2)_{p_r} p_r!} \\
 & \times \int_0^\infty e^{-\alpha x} x^{\lambda+2p_1+\dots+2p_r-1} dx \quad (3.5)
 \end{aligned}$$

In (3.5) using the definition of Gamma function (3.4) and finally considering the definition (1.7), we obtain the right-hand side of (3.1). This completes the proof of (3.1). The integrals (3.2) and (3.3) can be proved in the same manner.

Following two integrals can be obtained readily from (3.3) as follows:

$$\begin{aligned}
 & \int_0^\infty e^{-\sigma x} x^{\lambda-1} L_n^{(\alpha_1, \beta_1, \dots, \alpha_r, \beta_r)} [\gamma_1 x, \gamma_1 x, \dots, \gamma_r x, \gamma_r x] dx \\
 &= \frac{\Gamma(\lambda) \prod_{j=1}^r [(1+\alpha_j)_n (1+\beta_j)_n]}{\sigma^\lambda (n!)^r} {}_2F_3 \left[\begin{matrix} 2: 2; \dots; 2 \\ 0: 3; \dots; 3 \end{matrix} \left[\begin{matrix} \lambda, -n \\ \dots \\ \dots \end{matrix} \right. \right. \\
 & \left. \left. \begin{matrix} \frac{1}{2}(2+\alpha_1+\beta_1), \frac{1}{2}(1+\alpha_1+\beta_1); \dots \\ 1+\alpha_1, 1+\beta_1, 1+\alpha_1+\beta_1; \dots \\ \frac{1}{2}(2+\alpha_r+\beta_r), \frac{1}{2}(1+\alpha_r+\beta_r); 4\gamma_1, \dots, 4\gamma_r \\ 1+\alpha_r, 1+\beta_r, 1+\alpha_r+\beta_r; \sigma, \dots, \sigma \end{matrix} \right] \right. \end{matrix} \right. \quad (3.6)
 \end{aligned}$$

and

$$\begin{aligned}
 & \int_0^\infty e^{-\sigma x} x^{\lambda-1} L_n^{(\alpha_1, \alpha_1, \dots, \alpha_r, \alpha_r)} [\gamma_1 x, -\gamma_1 x, \dots, \gamma_r x, -\gamma_r x] dx = \frac{\Gamma(\lambda) \prod_{j=1}^r (1+\alpha_j)_n (1+\alpha_j)_n}{\sigma^\lambda (n!)^{2r}} \\
 & {}_2F_3 \left[\begin{matrix} 4:0; \dots; 0 \\ 0:3; \dots; 3 \end{matrix} \left[\begin{matrix} -\frac{1}{2}n, -\frac{1}{2}n + \frac{1}{2}, \frac{1}{2}\lambda, \frac{1}{2}\lambda + \frac{1}{2} \\ \dots \\ \dots \end{matrix} \right. \right. \\
 & \left. \left. \begin{matrix} \dots \\ 1+\alpha_1, \frac{1}{2}(1+\alpha_1), \frac{1}{2}(2+\alpha_1); \dots \end{matrix} \right] \right. \end{matrix} \right.
 \end{aligned}$$

$$\dots; \left[\dots; -4\gamma_1^2, \dots, -4\gamma_r^2 \right]; \dots; 1 + \alpha_r, \frac{1}{2}(1 + \alpha_r), \frac{1}{2}(2 + \alpha_r); \frac{-4\gamma_1^2}{\sigma^2}, \dots, \frac{-4\gamma_r^2}{\sigma^2} \quad (3.7)$$

Now, we mentioned the following special cases :

On setting $r = s = 1$ and $\gamma = \delta$ in (3.1) and using the result [1]

$$K_5(a, a, a, a; b, b, d, d; e, e, h, h; y, -y, z, -z) = F \left[\begin{matrix} 2:2; 2 \left[\frac{1}{2}a, \frac{1}{2}(a+1) : \frac{1}{2}b, \frac{1}{2}(b+1) ; \frac{1}{2}d, \frac{1}{2}(d+1) ; \right. \\ \left. 0:3; 3 \left[\begin{matrix} - & : e, \frac{1}{2}e, \frac{1}{2}(e+1) ; h, \frac{1}{2}h, \frac{1}{2}(h+1) ; \end{matrix} \right. \right. \\ \left. \left. -4y^2, -4z^2 \right] \right], \quad (3.8)$$

we get

$$\int_0^\infty e^{-\sigma x} x^{\lambda-1} L_{m_1}^{(\alpha_1, \alpha_1)}(\gamma_1 x, -\gamma_1 x) L_{m_2}^{(\alpha_2, \alpha_2)}(\gamma_2 x, -\gamma_2 x) dx = \frac{\Gamma(\lambda) [(1 + \alpha_1)_{m_1} (1 + \alpha_2)_{m_2}]^2}{\sigma^\lambda (m_1! m_2!)^2}$$

$$K_5 \left[\lambda, \lambda, \lambda, \lambda; -m_1, -m_1, -m_2, -m_2; 1 + \alpha_1, 1 + \alpha_1, 1 + \alpha_2, 1 + \alpha_2; \frac{\gamma_1}{\sigma}, -\frac{\gamma_1}{\sigma}, \frac{\gamma_2}{\sigma}, -\frac{\gamma_2}{\sigma} \right], \quad (3.9)$$

where K_5 is the Exton's quadruple hypergeometric series [3]

$$K_5(a, a, a, a; b_1, b_1, b_2, b_2; c_1, c_2, c_3, c_4; x, y, z, t) = \sum_{p, q, r, s=0}^\infty \frac{(a)_{p+q+r+s} (b_1)_{p+q} (b_2)_{r+s} x^p y^q z^r t^s}{(c_1)_p (c_2)_q (c_3)_r (c_4)_s p! q! r! s!} \quad (3.10)$$

On setting $r = 2$, integral (3.2) reduces to a known result [6]

$$\int_0^\infty e^{-\sigma x} x^{\lambda-1} L_{m_1}^{(\alpha_1, \beta_1)}(\gamma_1 x, \gamma_1 x) L_{m_2}^{(\alpha_2, \beta_2)}(\gamma_2 x, \gamma_2 x) dx = \frac{\Gamma(\lambda) (1 + \alpha_1)_{m_1} (1 + \beta_1)_{m_1} (1 + \alpha_2)_{m_2} (1 + \beta_2)_{m_2}}{\sigma^\lambda (m_1!)^2 (m_2!)^2}$$

$$F \left[\begin{matrix} 1:3; 3 \left[\lambda: -m_1, \frac{1}{2}(1 + \alpha_1 + \beta_1), \frac{1}{2}(2 + \alpha_1 + \beta_1); \right. \\ \left. 0:3; 3 \left[\begin{matrix} - & : 1 + \alpha_1, 1 + \beta_1, 1 + \alpha_1 + \beta_1 \\ -m_2, \frac{1}{2}(1 + \alpha_2 + \beta_2), \frac{1}{2}(2 + \alpha_2 + \beta_2); \end{matrix} \right. \right. \\ \left. \left. 1 + \alpha_2, 1 + \beta_2, 1 + \alpha_2 + \beta_2 ; \frac{4\gamma_1}{\sigma}, \frac{4\gamma_2}{\sigma} \right] \right] \right] \quad (3.11)$$

On setting $r = s = 1$ and $\alpha = \beta$, integral (3.3) reduces to

$$\int_0^\infty e^{-\sigma x} x^{\lambda-1} L_n^{(\alpha, \alpha, \rho, \rho)}[\gamma x, \gamma x, \delta x, -\delta x] dx = \frac{\Gamma(\lambda) [(1 + \alpha)_n (1 + \rho)_n]^2}{\sigma^\lambda (n!)^4}$$

$$X \left[\begin{matrix} 1:0; 1 \left[\lambda, -n: \dots; \frac{1}{2}(1 + 2\alpha) ; -\frac{\delta^2}{4\sigma^2}, \frac{4\gamma}{\sigma} \right] \\ 0:3; 2 \left[\begin{matrix} - & : 1 + \rho, \frac{1}{2}(1 + \rho), \frac{1}{2}(2 + \rho) ; 1 + \alpha, 1 + 2\alpha ; \end{matrix} \right. \\ \left. 4\sigma^2, \sigma \right] \right]. \quad (3.12)$$

References

- [1] A.A. Atash and A.M. Obad, Transformation formulas for some Exton's quadruple hypergeometric functions, *International Journal of Mathematical Analysis*, 9(10) (2015), 483 – 492.
- [2] S.K. Chatterjea, A note on Laguerre polynomials of two variables, *Bull. Cal. Math.Soc.* 82 (1991),263-266.
- [3] H. Exton, Multiple hypergeometric functions and applications, Halsted Press, NewYork, 1976.
- [4] H. Exton, Reducible double hypergeometric functions and associated integrals, *AnFac. Ci. Univ. Porto*, 63 (1982),137-143.
- [5] M. A. Khan and A. K. Shukla, On Laguerre polynomials of several variables, *Bull. Cal. Math. Soc.* 89 (1997),155-164.
- [6] F. B. F. Mohsen, A. A. Atash and S. S. Barahmah, On some integrals involving Laguerre polynomials of several variables, *General Mathematics Notes*, 28 (2)(2015), 21-29.

- [7] S. F. Ragab, On Laguerre polynomials of two variables $L_n^{(\alpha, \beta)}(x, y)$, *Bull. Cal. Math. Soc.* 83 (1991), 252-262.
- [8] E. D. Rainville, *Special functions*, Macmillan Company, New York, 1960.
- [9] H. M. Srivastava and M.C. Daoust, Certain generalized Neumann expansions associated with Kampé de Fériet function *Nederl. Akad. Wetensch. Indag. Math.* 31(1969), 449-457.
- [10] H. M. Srivastava and P. W. Karlsson, *Multiple Gaussian hypergeometric series*, Halsted Press, New York, 1985.